

BID2020-32 REHABILITATION OF THE JACKSON STREET BRIDGE OVER ASSUNPINK CREEK IN THE MILL HILL PARK FOR THE CITY OF TRENTON, DEPARTMENT OF RECREATION, NATURAL RESOURCES AND CULTURE				
NUMBER OF RESPONDENTS:	4			
NAME OF BIDDER	LOFTUS CONSTRUCTION, INC.	SPARWICK CONTRACTING, INC.	ROAD-CON, INC.	DELL-TECH, INC.
ADDRESS	1903 TAYLORS LANE	21 SUNSET INN ROAD	902 CAMARO RUN DRIVE	930 NEW YORK AVENUE
CITY, STATE, ZIP	CINNAMINSON, NJ 08077	LAFAYETTE, NJ 07848	WEST CHESTER, PA 19380	TRENTON, NJ 08638
CONTACT NAME	KEVIN J. LOFTUS-PRESIDENT	MARK FAGERSTEN	ALBERT D. HOFFMAN	ARKADIUSZ BAKULA
TELEPHONE	856-786-6607	973-300-4709	610-429-8089	609-393-6150
FAX	856-786-6641	973-300-4761	610-429-8098	609-393-6151
E-MAIL	KJLOFTUSCONSTRUCTION.COM	INFO@SPARWICK.CO M	AHOFFMAN@ROAD-CON.COM	CONTACT@DELLTECHINC.COM
STATEMENT OF OWNERSHIP DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
BID GUARANTEE	10% WESTERN SURETY COMPANY W.P.O.A/CECELIA D. BROWN	10% LIBERTY MUTUAL INSURANCE COMPANY W.P.O.A/LISA NOSAL	10% THE AMERICAN INSTITUTE OF ARCHITECTS W.P.O.A/KRISTEN D. PERDRICK	10% OLD REPUBLIC INSURANCE COMPANY W.P.O.A/CARMEN J. CAVALIERE
CONSENT OF SURETY	WESTERN SURETY COMPANY	LIBERTY MUTUAL INSURANCE COMPANY	THE AMERICAN INSTITUTE OF ARCHITECTS	OLD REPUBLIC INSURANCE COMPANY
PERFORMANCE BOND AND LABOR AND MATERIAL PAYMENT BOND	REQUIRED FROM AWARDED VENDOR WITH SIGNED CONTRACTS	REQUIRED FROM AWARDED VENDOR WITH SIGNED CONTRACTS	REQUIRED FROM AWARDED VENDOR WITH SIGNED CONTRACTS	REQUIRED FROM AWARDED VENDOR WITH SIGNED CONTRACTS
NOTICE OF INTENT TO SUBCONTRACT	YES-JUPITER PAINTING CONTRACTING COMPANY-PAINTING	YES-IRONBOUND SANDBLASTING-CLEANING AND PAINTING	N/A	N/A
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY EXHIBIT A	INCLUDED	INCLUDED	INCLUDED	INCLUDED
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY EXHIBIT B	INCLUDED	INCLUDED	INCLUDED	INCLUDED
REQUIRED EVIDENCE AFFIRMATIVE ACTION REGULATIONS QUESTIONNAIRE	INCLUDED	INCLUDED	INCLUDED	REQUIRED PRIOR TO AWARD FROM VENDOR
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA #1 DATE 5/8/2020	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NJ BUSINESS REGISTRATION CERTIFICATE FOR CONTRACTOR	INCLUDED	INCLUDED	INCLUDED	INCLUDED
NJPW CONTRACTOR REGISTRATION CERTIFICATE	CERT.#618584 EXP. 12/10/2020	CERT.#61110 EXP. 11/12/2020	REQUIRED PRIOR TO AWARD FROM VENDOR	CERT.#64896 EXP. 06/17/2021
NJ BUSINESS REGISTRATION CERTIFICATE FOR SUB-CONTRACTOR	INCLUDED	INCLUDED	N/A	N/A
NJPW SUB-CONTRACTOR REGISTRATION CERTIFICATE	JUPITER PAINTING CONTRACTING COMPANY INC.(CERT.#632809 EXP. 9/22/2021	IRONBOUND SANDBLASTING(CERT. #719487 EXP. 03/27/2022)	N/A	N/A
SUB- CONTRACTOR EIC	REQUIRED PRIOR TO AWARD FROM VENDOR	REQUIRED PRIOR TO AWARD FROM VENDOR	N/A	N/A
NON-COLLUSION AFFIDAVIT	INCLUDED	INCLUDED	INCLUDED	INCLUDED
AMERICANS WITH DISABILITIES ACT OF 1990 LANGUAGE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
DISCLOSURE OF INVESTED ACTIVITIES IN IRAN	INCLUDED	INCLUDED	INCLUDED	INCLUDED
DEBARMENT NOTICED	INCLUDED	INCLUDED	INCLUDED	INCLUDED
ETHICS COMPLAINT DISCLOSURE	INCLUDED	INCLUDED	INCLUDED	INCLUDED
PREVAILING WAGE STATEMENT	INCLUDED	INCLUDED	INCLUDED	INCLUDED
EQUIPMENT CERTIFICATION	INCLUDED	INCLUDED	INCLUDED	INCLUDED
CERTIFICATE OF INSURANCE	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR	REQUIRED FROM AWARDED VENDOR
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED	INCLUDED	INCLUDED	INCLUDED
60-DAY EXTENSION COMPLIANCE	YES	NO	YES	YES
COMPLIANCE WITH EMERGENCY SERVICES	YES	YES	N/A	NO
THREE (3) REFERENCES	INCLUDED	INCLUDED	INCLUDED	INCLUDED
TOTAL FOR YEAR ONE (1) FOR ITEMS#1-31	\$882,00.00 (SEE ATTACHED BREAKDOWN OF PRICING PER ITEM)	\$924,795.00 (SEE ATTACHED BREAKDOWN OF PRICING PER ITEM)	\$976,548.00 (SEE ATTACHED BREAKDOWN OF PRICING PER ITEM)	COMPANY DID NOT SUBMIT A SCHEDULE OF PRICES WITH BID SUBMITTAL
EXCEPTIONS (IF ANY)	NONE	NONE	NONE	NONE
FATAL FLAW	NONE	NONE	NONE	FATAL FLAW

Loftus Construction

Schedule of Prices

Jackson Street Bridge Rehabilitation

1

Item No.	Descriptions:	Quantity	Unit	Unit Cost	Total Cost
BASE BID					
1	Mobilization	LUMP SUM	LS	25,000 ⁰⁰	25,000 ⁰⁰
2	Construction Layout	1,500	DOLL	\$1	1,500 ⁰⁰
3	Silt Fence	50	LF	35 ⁰⁰	1,750 ⁰⁰
4	Temporary Inlet Sediment Trap	2	U	450 ⁰⁰	900 ⁰⁰
5	Breakaway Barricade	4	U	500 ⁰⁰	2,000 ⁰⁰
6	Construction Sign	76	SF	20 ⁰⁰	1,520 ⁰⁰
7	Final Cleanup	LUMP SUM	LS	3,695 ⁰⁰	3,695 ⁰⁰
8	Clearing Site	LUMP SUM	LS	25,000 ⁰⁰	25,000 ⁰⁰
9	Excavation, Unclassified	132	CY	125 ⁰⁰	16,500 ⁰⁰
10	Warm Mix Asphalt 9.5m 64 Surface Course	37	T	300 ⁰⁰	11,100 ⁰⁰
12	Remove Debris from Bridge Seat	LUMP SUM	LS	2,500 ⁰⁰	2,500 ⁰⁰

Schedule of Prices

Jackson Street Bridge Rehabilitation

Item No.	Descriptions:	Quantity	Unit	Unit Cost	Total Cost
13	Remove Vegetation and Clean Masonry	2660	SF	6 ⁰⁰	15,960 ⁰⁰
14	Repointing Masonry	1330	SF	25 ⁰⁰	33,250 ⁰⁰
15	Rebuilding Existing Stone Masonry Wall	540	SF	100 ⁰⁰	54,000 ⁰⁰
16	Structural Steel, Floorbeam Repair	1	U	2,000 ⁰⁰	2,000 ⁰⁰
17	Structural Steel, Truss Top Chord Connection Plate Repair	1	U	2,000 ⁰⁰	2,000 ⁰⁰
18	Fill Rivet Holes with H.S. Bolts	2	U	250 ⁰⁰	500 ⁰⁰
19	Remove Concrete Encasement from Steel Beams	5	CY	4,500 ⁰⁰	22,500 ⁰⁰
20	Plaque Restoration	LUMP SUM	LS	7,500 ⁰⁰	7,500 ⁰⁰
21	Timber Sidewalk Repairs	65	U	225 ⁰⁰	14,625 ⁰⁰
22	Tighten Loose Top Rail	1	U	1,500 ⁰⁰	1,500 ⁰⁰
23	Reconnect Base of Pedestrian Railing	1	U	1,500 ⁰⁰	1,500 ⁰⁰
24	Structural Steel, Scupper Deflector	14	U	1,300 ⁰⁰	18,200 ⁰⁰

Schedule of Prices

Jackson Street Bridge Rehabilitation

Item No.	Descriptions:	Quantity	Unit	Unit Cost	Total Cost
25	Remove Existing Bituminous Wearing Surface and Patch Concrete Deck **	400	SY	\$500	22,000 ⁰⁰
26	Membrane Waterproofing	320	SY	2500	8,000 ⁰⁰
27	Chain-Link Construction Fence, 6'-0" High	225	LF	20 ⁰⁰	4,500 ⁰⁰
28	Topsoiling, 2" Thick	50	SY	20 ⁰⁰	1,000 ⁰⁰
29	Fertilizing and Seeding, Type A-3	50	SY	10 ⁰⁰	500 ⁰⁰
30	Straw Mulching	50	SY	10 ⁰⁰	500 ⁰⁰
31	Near-white Spot Blast Cleaning and Painting	LUMP SUM	LS	\$80,000 ⁰⁰	\$80,000 ⁰⁰
BASE BID TOTAL (Total of Items 1-31)					
<i>Eight hundred and eighty two thousand Dollars and zero cents</i>					
<i>\$82,000⁰⁰</i>					

**PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID**

(MANDATORY IF APPLICABLE)

NAME Jupiter Painting Contracting Company
ADDRESS 1500 River Road
CITY, STATE, ZIP Croydon, PA 19021
TELEPHONE: 215-785-6920
FAX NO. _____
TRADE Painting
LICENSE NO. See Attached

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

Spaunwick Contracting Inc.

Schedule of Prices

Jackson Street Bridge Rehabilitation



Item No.	Descriptions:	Quantity	Unit	Unit Cost	Total Cost
BASE BID					
1	Mobilization	LUMP SUM	LS	92,000.00	92,000.00
2	Construction Layout	1,500	DOLL	\$1	1,500.00
3	Silt Fence	50	LF	5.00	250.00
4	Temporary Inlet Sediment Trap	2	U	80.00	160.00
5	Breakaway Barricade	4	U	100.00	400.00
6	Construction Sign	76	SF	15.00	1,140.00
7	Final Cleanup	LUMP SUM	LS	10,000.00	10,000.00
8	Clearing Site	LUMP SUM	LS	92,000.00	92,000.00
9	Excavation, Unclassified	132	CY	150.00	19,800.00
10	Warm Mix Asphalt 9.5m 64 Surface Course	37	T	350.00	12,950.00
12	Remove Debris from Bridge Seat	LUMP SUM	LS	500.00	500.00

Schedule of Prices**Jackson Street Bridge Rehabilitation**

Item No.	Descriptions:	Quantity	Unit	Unit Cost	Total Cost
13	Remove Vegetation and Clean Masonry	2660	SF	7.00	18,620.00
14	Repointing Masonry	1330	SF	25.00	33,250.00
15	Rebuilding Existing Stone Masonry Wall	540	SF	120.00	64,800.00
16	Structural Steel, Floorbeam Repair	1	U	2,000.00	2,000.00
17	Structural Steel, Truss Top Chord Connection Plate Repair	1	U	4,200.00	4,200.00
18	Fill Rivet Holes with H.S. Bolts	2	U	500.00	1,000.00
19	Remove Concrete Encasement from Steel Beams	5	CY	4,000.00	20,000.00
20	Plaque Restoration	LUMP SUM	LS	6,000.00	6,000.00
21	Timber Sidewalk Repairs	65	U	210.00	13,650.00
22	Tighten Loose Top Rail	1	U	1,000.00	1,000.00
23	Reconnect Base of Pedestrian Railing	1	U	2,000.00	2,000.00
24	Structural Steel, Scupper Deflector	14	U	625.00	8,750.00

Schedule of Prices

Jackson Street Bridge Rehabilitation

Item No.	Descriptions:	Quantity	Unit	Unit Cost	Total Cost
25	Remove Existing Bituminous Wearing Surface and Patch Concrete Deck **	400	SY	100.00	40,000.00
26	Membrane Waterproofing	320	SY	25.00	8,000.00
27	Chain-Link Construction Fence, 6'-0" High	225	LF	15.00	3,375.00
28	Topsoiling, 2" Thick	50	SY	7.00	350.00
29	Fertilizing and Seeding, Type A-3	50	SY	1.00	50.00
30	Straw Mulching	50	SY	1.00	50.00
31	Near-white Spot Blast Cleaning and Painting	LUMP SUM	LS	467,000.00	467,000.00
BASE BID TOTAL (Total of Items 1-31)					924,795.00
NINE HUNDRED TWENTY FOUR THOUSAND SEVEN HUNDRED NINETY FIVE Dollars					

**PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID
(MANDATORY IF APPLICABLE)**

NAME Ironbound Sandblasting
ADDRESS 539 Ferry St
CITY, STATE, ZIP Newark, NJ 07105
TELEPHONE: (973) 690-2911
FAX NO.
TRADE Cleaning and Painting
LICENSE NO. 719487

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

NAME _____
ADDRESS _____
CITY, STATE, ZIP _____
TELEPHONE: _____
FAX NO. _____
TRADE _____
LICENSE NO. _____

Root - On Inc.

Schedule of Prices

Jackson Street Bridge Rehabilitation

Item No.	Descriptions:	Quantity	Unit	Unit Cost	Total Cost
BASE BID					
1	Mobilization	LUMP SUM	LS	\$ 72,000.00	\$ 72,000.00
2	Construction Layout	1,500	DOLL	\$ 1	\$ 1.00
3	Silt Fence	50	LF	\$ 23.00	\$ 1,150.00
4	Temporary Inlet Sediment Trap	2	U	\$ 495.00	\$ 990.00
5	Breakaway Barricade	4	U	\$ 350.00	\$ 1,400.00
6	Construction Sign	76	SF	\$ 30.00	\$ 2,280.00
7	Final Cleanup	LUMP SUM	LS	\$ 8,620.00	\$ 8,620.00
8	Clearing Site	LUMP SUM	LS	\$ 21,300.00	\$ 21,300.00
9	Excavation, Unclassified	132	CY	\$ 83.00	\$ 10,956.00
10	Warm Mix Asphalt 9.5m 64 Surface Course	37	T	\$ 454.00	\$ 16,798.00
12	Remove Debris from Bridge Seat	LUMP SUM	LS	\$ 9,620.00	\$ 9,620.00

(3)

Schedule of Prices

Jackson Street Bridge Rehabilitation

Item No.	Descriptions:	Quantity	Unit	Unit Cost	Total Cost
13	Remove Vegetation and Clean Masonry	2660	SF	\$ 7.50	\$ 19,920.00
14	Repointing Masonry	1330	SF	\$ 38.00	\$ 50,540.00
15	Rebuilding Existing Stone Masonry Wall	540	SF	\$ 146.00	\$ 78,640.00
16	Structural Steel, Floorbeam Repair	1	U	\$ 3,540.00	\$ 3,540.00
17	Structural Steel, Truss Top Chord Connection Plate Repair	1	U	\$ 7,700.00	\$ 7,700.00
18	Fill Rivet Holes with H.S. Bolts	2	U	\$ 169.00	\$ 338.00
19	Remove Concrete Encasement from Steel Beams	5	CY	\$ 6,825.00	\$ 34,125.00
20	Plaque Restoration	LUMP SUM	LS	\$ 8,370.00	\$ 8,370.00
21	Timber Sidewalk Repairs	65	U	\$ 152.00	\$ 9,880.00
22	Tighten Loose Top Rail	1	U	\$ 740.00	\$ 740.00
23	Reconnect Base of Pedestrian Railing	1	U	\$ 740.00	\$ 740.00
24	Structural Steel, Scupper Deflector	14	U	\$ 2,200.00	\$ 30,800.00

ROAD-CON, INC

Schedule of Prices

Jackson Street Bridge Rehabilitation

Item No.	Descriptions:	Quantity	Unit	Unit Cost	Total Cost
25	Remove Existing Bituminous Wearing Surface and Patch Concrete Deck *	400	SY	\$ 178.00	\$ 71,200.00
26	Membrane Waterproofing	320	SY	\$ 46.00	\$ 14,720.00
27	Chain-Link Construction Fence, 6'-0" High	225	LF	\$ 12.00	\$ 2,700.00
28	Topsoiling, 2" Thick	50	SY	\$ 53.00	\$ 2,650.00
29	Fertilizing and Seeding, Type A-3	50	SY	\$ 26.00	\$ 1,300.00
30	Straw Mulching	50	SY	\$ 46.00	\$ 2,300.00
31	Near-white Spot Blast Cleaning and Painting	LUMP SUM	LS	\$ 491.000.00	\$ 491,000.00
BASE BID TOTAL (Total of Items 1-31)					
<i>Nine Hundred, Seventy-Six Thousand, Five Hundred, Forty-Eight Dollars</i>					
<i>\$ 976,548.00</i>					

**PROVIDE A LIST SUB-CONTRACTORS
COPY OF LICENSES SUBMITTED WITH BID
(MANDATORY IF APPLICABLE)**

NAME _____

ADDRESS _____

CITY, STATE, ZIP _____

TELEPHONE: _____

FAX NO. _____

TRADE _____

LICENSE NO. _____

NAME _____

ADDRESS _____

CITY, STATE, ZIP _____

TELEPHONE: _____

FAX NO. _____

TRADE _____

LICENSE NO. _____

NAME _____

ADDRESS _____

CITY, STATE, ZIP _____

TELEPHONE: _____

FAX NO. _____

TRADE _____

LICENSE NO. _____

NAME _____

ADDRESS _____

CITY, STATE, ZIP _____

TELEPHONE: _____

FAX NO. _____

TRADE _____

LICENSE NO. _____

NAME _____

ADDRESS _____

CITY, STATE, ZIP _____

TELEPHONE: _____

FAX NO. _____

TRADE _____

LICENSE NO. _____